Supplementary Material

Table S1 & S2: User and producer accuracies of all performed classifications

Tab

le S1

Favourable conditions

Tab

le S2

Unfavourable conditions

100m altitude 30m altitude
250 samples 50 samples 250 samples 50 samples
Scenario 1 Scenario 2 Scenario 3 Scenario 4
Eelgrass sand Eelgrass Sand Eelgrass sand Eelgrass Sand
Classifier Hyper-parameter PA UA PA UA PA UA PA UA PA U PA UA PA UA PA UA
Bayes 0915 0.855, 0.972 0938 0873 0,939 0.915 0.895| 0.957 0941 0918 0541
DT Depth 1 0.968 0.834 0.620 0507|0979 0818 0570 0.931 0.954 0.865) 0.798 0.927) 0.940 0.877 0822 0.910)
DT Depth 5 0865 0897, 0.803 0.750 0929 0.847 05669 0826 0.504 0.969) 0962 0.881 0.840 0967 0962 0816
DT [0 Depth 10 0.865 0.897 0.803 0.750 0.929 0.847 0.669 0.826 0.904 0.969) 0.962 0.881 0.840 0.967 0962 0815
DT Depth 15 0.865 0.897 0.803 0.750 0.929 0.847| 0.669 0.826 0.904 0.969 0.962 0.881 0.840 0.967| 0.962 0.816|
DT Depth 20 0.865 0.897, 0.803 0.750 0.929 0.847 0669 0.825 0.904 0.969 0.962 0.881] 0.840 0.967 0962 0816
KNN K1 0.940 0.971] 0.944 0.887 0.861 0.900] 0.810 0.747 0.954 0.950 0.933 0.937 0.893 0.900] 0.865 0.857
KNN K5 0.940 0.971] 0.944 0.887 0.861 0.900 0810 0.747 0.950 0.967, 0957 0.934 0.936 0.877 0822 0.505
KNN KNN K10 0.940 0971 0.944 0.887| 0.521 0.881] 0964 0.799 0.918 0.952 0.938 0.894 0.947 0.866| 0.803 0.918]
KNN K15 0.940 0971 0.944 0.887 0.929 0.847 0669 0.825 0.904 0.969 0.962 0.881] 0.954 0.862 0.793 0927
[KNN K20 0.954 0.944) 0.887 0.906 0.893 0.837) 0.655 0.756 0.929 0.922 0.894 0.903 0.940 0.863] 0.798 0.907
RT Depth 1 0.968 0.834 0.620 0.907 0.947 0834 0627 0.855 0.922 0.896 0.856 0.890) 0.922 0912 0.880 0.893
RT Depth 5 0.904 0.924 0.852 0.818 0.929 0.876| 0739 0.840| 0.925 0.959] 0.947 0.904 0.918 0.935] 0913 0.892
RT  |RT Depth 10 0.883 0929 0.865 0.788 0.929 0.842 0655 0823 0.929 0.967 0957 0.909 0.922 0.899 0861 0891
RT Depth 15 0:883 0.936 0.880 0791 0.936 0851 0676 0.842 0.943 0.953 0938 0.924 0.922 0.887 0841 0.888
RT Depth 20 0875 0928 0.866 0.778 0922 0.869 0725 0.824 0.929 0.967 0.957 0.909 0.900 0.907 03875 0.867
SUM linear_C2 0.794 0.676 0.376 0.698 0.669 0317 0.345| 0.957 0.968 0.957 0.943 0.922 0.963 0952 0,900
SVM linear_C4 0.922 0.912 0.824 0.842 0.936 0.936| 0873 0.873 0.957 0.968 0.957 0.943 0.911 0.959 0.947 0.887
SUM linear_C6 0.968 0.961] 0.923 0.936 0.708 0.737 05500 0.464) 0.968 0.958 0.942 0.956 0.918 0.959 0947 0.895
SVM linear_C8 0.815 0.741 0.437 0.544 0.826 0.928] 0873 0.717 0.964 0.953 0.918 0.956| 0.942 0.895
5UM linear_C10 0928 0873 0717 0.972 0.935 0.923 0.960 0.918 0956 0942 0895
SUM rbi_g0.0001_C1 0836 0620 0.935) 0.957 0.903 0.861 0.937) 0.954 0.831 0.736 0.939)
VM SVM rbf_g0.0001_C1000 0.941) 0.887 0.818 0.947 0.971 0.962 0.930 0.925 0.939) 0918 0.901
SUM rbf_50.0001_C1000000 0.813 0831
SVM rbf_gl C1 0.500] undefined
SUM rbf_g1_C1000 0.500
SUM rbi_g1_C1000000 0.500) 0.608
SVM rbf_g1000_C1 undefined undefined undefined
SVM rbf_g1000_C1000 undefined [
5UM rbf_g1_C1000000 undefined undefined

100m altitude 30m altitude
250 samples 50 samples 250 samples. 50 samples
Scenario 5 Scenario 6 Scenario 7 Scenario 8
Eelgrass Sand Eelgrass Sand Eelgrass Sand Eelgrass Sand
Classifier Hyper-parameter PA UA PA UA PA UA PA UA PA UA PA UA PA UA PA UA

Bayes 0.889 0.847 0.738 0.804] 0.654 0.701 0.547 0.492 0.895 0.502 0.898 0.891 0.835 0.719] 0.633 0.852
DT Depth 1 0.921 0.715 0401 0.758) 0.886 0.736| 0483 0.722 0.957 0.911 0.902 0.953 0.914 0.933] 0931 0912

DT Depth 5 0.696 0.841 0.785 0.614 0.872 0.707| 0407 0.673 0.922 0.908 0.902 0.917 0.942 0.801] 0.755 0925

oT DT Depth 10 0.738 0.672] 0.779 0.829] 0.879 0.707| 0.407 0.673 0.922 0.908 0.902 0.917| 0.942 0.801] 0.755 0925
OT Depth 15 0.779 0.829 0.738 0672 0.750 0.691 0453 0.527] 0.922 0.908 0.902 0.917| 0.942 0.801 0.755 0.925

DT Depth 20 0.779 0.829 0.738 0.672 0.750 0.691 0453 0.527] 0.922 0.908 0.902 0.917 0.842 0.801] 0.755 0.925

KNN K1 0.868 0.824] 0.698 0.764] 0.686 0.688| 0.494 0.491 0.883 0.801 0.898 0.880) 0.907 10.900| 0.894 0.901

KNN K5 0.657 0.739 0.857 0.803] 0.821 0.747) 0547 0.653 0.883 0.901 0.898 0.880 0.507 0.300 0.894 0.901

KNN KNN K10 0.875 0.759) 0.547 0.729] 0.401 0.742] 0914 0.713 0.883 0.801 0.898 0.880) 0.907 0.900| 0.894 0.901
KNN K15 0.854 0.771] 0.587 0.711 0.666 0.833 0.883 0.901 0.898 0.880) 0.907 0.900] 0.894 0901

KNN K20 0.893 0.740] 488 0.737 0.643| 0.857 0.883 0.901 0.898 0.880 0.507 0.500/ 0.834 0.501

RT Depth 1 0.968 0.676| 0.824] 0.932 0.659| 0.661 0.899 0.837 0.816 0.885| 0.805 0.928| 0.935 0.821

RT Depth 5 0.907 0.777 0.576 0.792] 0.825 0.702 0.602 0.965 0.919 0.910 0.961 0.747 0.938] 0.953 0.798

RT RT Depth 10 0.854 0.807 0.669 0.737| 0.775 0.666| 0366 0.500] 0.961 0.918 0.910 0.957| 0.930 0.845| 0.820 0918
RT Depth 15 0.882 0.802 0.645 0.771 0.775 0.666 0366 0.500] 0.953 0.928 0.922 0950 0.883 0.876 0.869 0.877

RT Depth 20 0.882 0.802: 0.645 0.771] 0.775 0.666| 0.366 0.957 0.805 0.845| 0.845 0.805

SVM linear_C2 0.800 0.842 0.756 0.699] 0.%07 0.683| 0314 0.949 0.884| 0.869 0.942

SVM linear_C4 0.446 0.553; 0.413 0.314 0.889 0.677| 0.308 0.949 0.884) 0.869 0.942

SVM linear_C6 0.914 0.864] 0.349 0904

SVM linear_C8 0.949 0.942

SVM linear_C10 0542

SVM rbf_g0.0001_C1 0.888|

SVM SVM rbf_g0.0001_C1000 0.953
SV rbf_g0.0001_C1000000 0953

SVM rbf gl C1 0969

SVM rbf_gl_C1000 0,969

SVM rbf_gl_C1000000 0.969

SVM rbf_g1000_C1 undefined

SVM rbf_g1000_C1000 undefined

SVM rbf_gl C1000000 0969




Receiver operator characteristic (ROC) curves
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Scenario S3
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Scenario S4
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Scenario S5
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Scenario S6

Bayes
1 -
~ 0.8 - 3
= o
£ =
=06 - z
> g
= 2
E 04 - G
E —f— Bayes b
= @
02 - ”
AUC=0.6
0 - - T ' '
0 0.2 04 0.6 0.8 1
1-Specificity (FPR)
KNN
) 1
— 038 g’
= (=0
& =
£ o6 g
£ —a—K10 g
= AUC = 0.59 k=]
= 04 i —s—xa5 34
3 AUC = 0.683 c
e —e—K20 9
k7 AUC = 0.658 "
0.2 C : 2
AUC = 0.589
AUC = 0.547
. 0
0 0.2 0.4 0.6 0.8 1
1-Specificity (FPR)
SVM_lin
. 1
OB z 08
= o
g =
— 06 = 0e
z —s £
E AUC=0.611 % 5
Z o4 AUC=0599 —*—<8 3 04
5 AUC=0681 —*—c10 g
0.2 AUC=0.49 e
AUC=0.517
. 0
0 0.2 0.4 0.6 0.8 1

1-Specificity (FPR)

0.8

0.6

0.4

0.2

DT

—— D1
—s—D5, D10
—e—D15, D20
AUC =0.684

AUC =0.643

AUC = 0.602

0.2

0.4 0.6
1-Specificity (FPR)

0.8 1

RT

—&—D1
—e—D5
—#—D10, D15, D20
AUC=0.573

AUC = 0.628
AUC = 0.571
0.2 0.4 0.6 0.8 1
1-Specificity (FPR)
SVM_rbf
—8—(C1000_g0.0001
—e—C1000000_g0.0001
== _1000000_g1
—e—(C1000_g1
—a—C1_g0.0001
AUC =0.586 —e—Cl gl
AUC=0.435 —&—C1_g1000
AUC=0.539 ——C1000_g1000
AUC=0.502 —&—(C1000000_g1000
0.5 1

1-Specificity (FPR)



Scenario S7
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Scenario S8
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